BT A/ OFBMMEERER ($F24F10830H)
- L - WER = “ HEEANE o
g - RIS g - #RH (5 B 1) 45l (e) HIE
1 FEBETHTRS 10816 E e 7+ = 5 24
2 FARLETHETHCA 10B16H e A R 65 =%
3 HLETETEE) ] 108 17H e B 10 24
4 BETHTISEY 105 19E e 7+ X 70 =4
5 #ETTh & HT 108 19E e 7+ = 135 =%
6 HFTTIRIRET 10819F e Za 80 =%
7 HEIET KRS 108 21H e A R 15 24
8 HFIHT RASF 108 21E e A R 15 24
9 KEFME/NE=AD 10B20E e 7+ = 40 24
10 @HMARFHEHR] 1089H e A R 25 24
11 f@Hrivéh) I H] 1089H e A R 20 24
12 BHTARFEHR] 108 15H e A R 65 =4
13 @BH BT 108161 e 7+ = 20 =
14 BHTAER 108 18H e A R 25 2%
15 f@H Bl 108 20E e 7+ = 30 =%
16 f&FFm R IEHT 10A15E e A R 40 =N
17 BHTOER 108150 e 3 = 40 e
18 t&F I RIEET 10819F e 7+ = 70 =%
19 BHMREHT 10B21E e A R 80 24
20 BH ML IGHT 10821H HIE A R 70 =i
21 fBHAIGHT 108 22HE e 2 40 =4
22 WRIAT AR 108 26H e A R 60 =%
23 FBETHTE R 108 22H e A R 60 =%




